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Aufgaben-Quickname: 6786

Aufgabe 1
Quick:
6786

Berechne und kürze das Ergebnis soweit wie möglich.

a) 2
5 : 2 = 2

10 = 1
5 b) 4

7 : 2 = 4
14 = 2

7 c) 4
5 : 2 = 4

10 = 2
5

d) 2
3 : 3 = 2

9 = 2
9 e) 4

9 : 2 = 4
18 = 2

9 f) 9
10 : 3 = 9

30 = 3
10

g) 1
2 : 2 = 1

4 = 1
4 h) 4

5 : 4 = 4
20 = 1

5 i) 8
9 : 4 = 8

36 = 2
9

j) 7
8 : 4 = 7

32 = 7
32

Aufgabe 2
Quick:
6786

Berechne und kürze das Ergebnis soweit wie möglich.

a) 2
3 : 4 = 2

12 = 1
6 = 1

6 b) 1
2 : 3 = 1

6 = 1
6 = 1

6

c) 7
8 : 2 = 7

16 = 7
16 = 7

16 d) 12
13 : 4 = 12

52 = 3
13 = 3

13

e) 2
3 : 2 = 2

6 = 1
3 = 1

3 f) 10
7 : 5 = 10

35 = 2
7 = 2

7

g) 17
10 : 5 = 17

50 = 17
50 = 17

50 h) 2
3 : 2 = 2

6 = 1
3 = 1

3

i) 7
1 : 2 = 7

2 = 7
2 = 31

2 j) 3
2 : 9 = 3

18 = 1
6 = 1

6

Aufgabe 3
Quick:
6786

Berechne und kürze das Ergebnis soweit wie möglich.

a) 23
25 : 6 = 23

150 = 23
150 b) 1

6 : 11 = 1
66 = 1

66 c) 12
25 : 3 = 12

75 = 4
25

d) 1
12 : 10 = 1

120 = 1
120 e) 21

23 : 7 = 21
161 = 3

23

f) 20
23 : 10 = 20

230 = 2
23 g) 11

27 : 8 = 11
216 = 11

216 h) 12
23 : 4 = 12

92 = 3
23

i) 4
11 : 2 = 4

22 = 2
11 j) 11

29 : 3 = 11
87 = 11

87

www.dw-aufgaben.de Seite 1 bsp-6786-3/WOYR



LÖSUNG zu bsp-6786-3/WOYR

Aufgabe 4
Quick:
6786

Berechne und kürze das Ergebnis soweit wie möglich.

a) 3
5 : 4 = 3

20 = 3
20 = 3

20 b) 2
3 : 2 = 2

6 = 1
3 = 1

3

c) 16
5 : 2 = 16

10 = 8
5 = 13

5 d) 11
13 : 3 = 11

39 = 11
39 = 11

39

e) 7
6 : 10 = 7

60 = 7
60 = 7

60 f) 20
17 : 5 = 20

85 = 4
17 = 4

17

g) 5
8 : 4 = 5

32 = 5
32 = 5

32 h) 7
19 : 5 = 7

95 = 7
95 = 7

95

i) 17
19 : 6 = 17

114 = 17
114 = 17

114 j) 2
1 : 6 = 2

6 = 1
3 = 1

3

Viel Erfolg!
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